Mnowagb NOKpbITUS 0,702 M2 Ob6bem getanu 0,0323 M3

Mnowage npuknerikn| 0,356 M?  |[Konuuecteo mynbTuwmnos| 2 LUT.

Bua cnesa
(MacwTtab 1:2)
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212.16 | Nosic 220-120, anvHa 162 cm 1:16




Mnowaab NOKpbITUA

0,879 m?

Ob6bem getanu

0,0405 m°

Mnowaanb NPUKIENKN

0,447 m?

KonnyectBo MynbTULLINNOB 2 LWT.
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Bua cnesa
(MacwTtab 1:2)
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212.17 | MNosic 220-120, anvHa 203 cm
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Mnowagb NOKpbITUS 0,406 M2 Ob6bem getanu

0,0179 m°

Mnowags npuknerkn| 0,198 M?  |Konu4ecTBo MynbTULLMNOB

2 LWT.
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[Nosic 220-120, neBbin yron 90 cm
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Mnowagb NOKpbITUS 0,406 M2 Ob6bem getanu 0,01 79 M3

Mnowags npuknerkn| 0,198 M?  |[Konuuecteo mynbTuwmnos| 2 LUT.
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Mnowagb NOKpbITUS 0,544 M2 Ob6bem getanu 0,0243 M3

Mnowags npuknerikn| 0,268 M?  |Konu4ecTBo MynbTULLMNOB

2 LWT.
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[Nosic 220-120, neBbin yron 122 cm
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Mnowagb NOKpbITUS 0,544 M2 Ob6bem getanu 0,0243 M3

Mnowags npuknerikn| 0,268 M?  |[Konuuecteo mynbTuwmnos| 2 LUT.

1220

Bua cnesa
(MacwTtab 1:2)

120

15

35

R3p

140

35

220

)
=}
25

30

40

212.38 | Nosic 220-120, npaBbin yron 1:8




